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Under the current tax law a person receiving an IRA distribution must report the taxable amount on line 15b of Form 1040. By doing this that individual is paying the required tax on that amount. However, the taxes on that IRA distribution do not stop there. The requirement that I consider unfair relates to those individuals that are receiving Social Security benefits. When these individuals figure their taxes they must use the Social Security Benefits Worksheet to figure how much of their benefits will be taxed. Line 3 of the Social Security Benefits Worksheet requires that the taxable IRA distribution, line 15b of Form 1040, be included along with wages, interest, and dividends.


After saving in a traditional IRA, the only type available for most of my career, and working to secure my Social Security benefit, I consider it unfair that I should have to pay additional tax on my Social Security benefits just because I take an IRA distribution. As I approach the age when I will be required to take the Required Minimum Withdrawal from my IRA I will have to pay additional tax on my Social Security benefits even if I had no other sources of income. The Social Security Benefits Worksheet is set up so that an individual is paying an effective tax rate of 22.5% on the first half of his taxable Social Security benefits and an effective rate of almost 28% on the remainder of his taxable benefits. And these rates are all imposed when the individuals taxable income is well within the range of the published 15% tax rate.


An additional point to consider is that the workforce that is now enjoying the benefits of the Roth IRA will not have to pay tax on their Social Security benefits just because they take an IRA distribution.


A straightforward solution to this situation would be to remove the requirement to list the taxable IRA distribution on Line 3 of the Social Security Benefits Worksheet. If this change were adopted, the individual would still be paying the required tax on the IRA distribution and would still be paying tax on his Social Security benefits if his earned and investment income were high enough. The only thing it would correct is to remove the additional tax for taking an IRA distribution.


Thank you for giving consideration to this matter.









Sincerely,









Kenneth W. Nutt

